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Population

1 (a) Study Fig. 1, which shows crude birth rates in the Americas, 2007.

  (i) With specific reference to Fig. 1, describe the spatial variation in crude birth rates.

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...................................................................................................................................... [6]

  (ii) Suggest two possible reasons for this spatial variation.

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...................................................................................................................................... [6]

 (b) State and explain one limitation of the crude birth rate as a measure of a country’s fertility.

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   .............................................................................................................................................. [3]
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 (c) With reference to a named country, describe and explain changes in its age-sex structure 
through time. 

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ............................................................................................................................................ [10]

[Total: 25]
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Rural Settlement 

2 Study the 1: 25 000 OS map extract of the Totternhoe area of south Bedfordshire.

 (a) (i) What is meant by the term ‘site of a settlement’?

    ...........................................................................................................................................

    ...................................................................................................................................... [2]
 
  (ii) With reference to specific evidence from the OS map, state and explain two advantages 

of the site occupied by Totternhoe (9722 to 9920).

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...................................................................................................................................... [6]

 (b) (i) With reference to specific evidence from the OS map, describe two characteristics of the 
settlement pattern in this area.

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...................................................................................................................................... [6]
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  (ii) With reference to specific evidence from the OS map, suggest two reasons for one of 
the characteristics described in part (i).

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...........................................................................................................................................

    ...................................................................................................................................... [6]

 (c) With reference to specific evidence from the OS map, identify three periods in the evolution 
of the settlement pattern in this part of south Bedfordshire.

 
  1  ................................................................................................................................................

   .............................................................................................................................................. [2]

  2  ................................................................................................................................................

   .............................................................................................................................................. [2]

  3  ................................................................................................................................................

   .............................................................................................................................................. [2]
 

[Total: 26]
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Urban Settlement

3 Study Fig. 2, which shows the projected population growth of the world’s largest urban areas, 
2006 to 2020.

 (a) With specific reference to Fig. 2, describe variations in the projected population growth of the 
world’s largest urban areas.

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   .............................................................................................................................................. [4]

 (b) Explain how one demographic characteristic of rural areas in LEDCs might encourage rural 
to urban migration.

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   .............................................................................................................................................. [4]

 (c) State and explain one economic and one social advantage of rural to urban migration in 
LEDCs.

  Economic  ..................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

  Social  ........................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   .............................................................................................................................................. [6]
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 (d) For a named example of an urban area in an LEDC, describe and explain the effects of 
urbanisation on the environment. 

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ...................................................................................................................................................

   ............................................................................................................................................ [10]

[Total : 24]
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OS map Reproduced by permission of Ordnance Survey on behalf of HMSO © Crown Copyright 2009. All rights reserved. Ordnance Survey 
Licence number 100043707.

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every 
reasonable effort has been made by the publisher (OCR) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the 
publisher will be pleased to make amends at the earliest possible opportunity.

OCR is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), 
which is itself a department of the University of Cambridge.
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